

## ON THE PSEUDO-LEBESGUE-STIELTJES INTEGRAL

Katarína Lendelová<sup>1</sup>

**Abstract.** The aim of this paper is to create a theory of pseudo-Lebesgue-Stieltjes integral for pseudo-probability defined in [6]. We show the relations between the pseudo-Lebesgue integral and pseudo-Lebesgue-Stieltjes integral and some applications, too.

*AMS Mathematics Subject Classification (2000):* 28A25

*Key words and phrases:* pseudo operations, pseudo-probability, pseudo-Lebesgue-Stieltjes integral

### 1. Introduction

In many directions, use has been made of the pseudo-arithmetical operations based on the generator  $g$  (increasing bijection with  $g(0) = 0$ ). Hence, it is interesting to study the integral with respect to the Pap  $g$ -calculus (see [2], [3], [5], [7], [8], [9], [13]).

In this paper we create a theory of pseudo-Lebesgue-Stieltjes integral for pseudo-probability defined in [6]. We show the relations between the pseudo-Lebesgue integral and pseudo-Lebesgue-Stieltjes integral and some applications, too.

The main motivation is the pseudo-probability theory. In [6] it was proved the weak law of large numbers, of course, only for continuous random variables, because the authors had no the general pseudo-Lebesgue-Stieltjes integral at their disposal.

### 2. Basic notion

In this section we recall the basic notions like pseudo-operations, the pseudo-probability and pseudo-Lebesgue integral (see [2], [3], [5], [6], [7], [8], [9], [13]).

Let  $g : \mathbb{R} \rightarrow \mathbb{R}$  be an increasing bijection with  $g(0) = 0$  and  $g(1) = 1$ . We define

$$\text{pseudo-addition: } x \oplus y := g^{-1}(g(x) + g(y)),$$

$$\text{pseudo-subtraction: } x \ominus y := g^{-1}(g(x) - g(y)),$$

$$\text{pseudo-multiplication: } x \odot y := g^{-1}(g(x) \cdot g(y)),$$

$$\text{pseudo-absolute value: } |x|^{\oplus} := g^{-1}(|g(x)|), \quad \text{for } x, y \in \mathbb{R}.$$

---

<sup>1</sup>Faculty of Natural Sciences, Matej Bel University, Department of Mathematics, Tajovského 40, 974 01 Banská Bystrica, Slovakia, e-mail: lendelov@fpv.umb.sk

Let  $(I, \oplus, \odot)$  be a semiring,  $I$  be a subinterval of  $[-\infty, +\infty]$ . Let  $\Omega$  be a nonempty set and  $\mathcal{S}$  be a  $\sigma$ -algebra of subsets of the set  $\Omega$ . We define the **pseudo-probability**  $P$  as the function  $P : \mathcal{S} \rightarrow I$  with the properties:

$$(i) \quad P(\emptyset) = 0 \text{ and } P(\Omega) = 1$$

$$(ii) \quad P\left(\bigcup_{i=1}^{\infty} A_i\right) = \bigoplus_{i=1}^{\infty} P(A_i) \text{ for pairwise disjoint sets } A_i \in \mathcal{S}, i \in \mathbb{N}$$

The triple  $(\Omega, \mathcal{S}, P)$  is the pseudo-probability space.

We can define the **induced probability**  $p$  as the function  $p = g \circ P$ . Then the triple  $(\Omega, \mathcal{S}, p)$  is the probability space.

Let  $(\Omega, \mathcal{S}, P)$  be a pseudo-probability space and  $p$  be the induced probability. Let  $f : \Omega \rightarrow \mathbb{R}$  be a random variable. Then the **pseudo-Lebesgue integral** of the function  $f$  can be expressed by the formula

$$\int^{\oplus} f \, dP = g^{-1}\left(\int g \circ f \, dp\right)$$

### 3. The pseudo-Lebesgue-Stieltjes integral

Let  $\xi$  be an integrable random variable,  $F$  be its distribution function and  $\lambda_F$  be the Lebesgue-Stieltjes measure corresponding to  $F$ .

In a general probability theory the mean value (expectation) of a Borel measurable function  $f : \mathbb{R} \rightarrow \mathbb{R}$  ( $f$  is a random variable in a probability space  $(\mathbb{R}, \mathcal{B}(\mathbb{R}), \lambda_F)$ ) is called the Lebesgue-Stieltjes integral of the function  $f$  corresponding to  $F$ . It is denote by

$$\int f \, dF, \int_{-\infty}^{\infty} f(x) \, dF(x), \int f \, d\lambda_F.$$

We have  $p_{\xi}(A) = p(\xi^{-1}(A)) = \lambda_F(A)$  for each  $A \in \mathcal{B}(\mathbb{R})$ .

In this section we create a theory of the pseudo-Lebesgue-Stieltjes integral. We define the notions like the pseudo-distribution function, the pseudo-Lebesgue-Stieltjes measure and the pseudo-Lebesgue-Stieltjes integral.

**Definition 3.1.** *Let  $(\Omega, \mathcal{S}, P)$  be a pseudo-probability space and  $\xi : \Omega \rightarrow \mathbb{R}$  be a random variable. Then the pseudo-distribution function  $F_g : \mathbb{R} \rightarrow \mathbb{R}$  of a random variable  $\xi$  is defined by the formula*

$$F_g(x) = P(\xi < x) = P(\{\omega; \xi(\omega) < x\})$$

for each  $x \in \mathbb{R}$ .

**Theorem 3.2.** *Let  $(\Omega, \mathcal{S}, P)$  be a pseudo-probability space,  $F : \mathbb{R} \rightarrow \mathbb{R}$  be a distribution function of a random variable  $\xi$ . Then the pseudo-distribution function  $F_g : \mathbb{R} \rightarrow \mathbb{R}$  of random variable  $\xi$  can be expressed by the formula*

$$F_g = g^{-1} \circ F$$

*Proof.* Evidently,  $F_g(x) = P(\xi < x) = g^{-1}(p(\xi < x)) = g^{-1}(F(x))$ , for each  $x \in \mathbb{R}$ .

**Definition 3.3.** *Let  $F_g : \mathbb{R} \rightarrow \mathbb{R}$  be the pseudo-distribution function of a random variable  $\xi$  and  $F : \mathbb{R} \rightarrow \mathbb{R}$  be its distribution function. Then the pseudo-Lebesgue-Stieltjes measure  $\lambda_F^g : \mathcal{B}(\mathbb{R}) \rightarrow \mathbb{R}$  is defined by the formula*

$$\lambda_F^g = g^{-1} \circ \lambda_F$$

where  $\lambda_F$  is the Lebesgue-Stieltjes measure corresponding to  $F$ .

**Theorem 3.4.** *Let  $F_g : \mathbb{R} \rightarrow \mathbb{R}$  be the pseudo-distribution function of a random variable  $\xi$ . Then there exists exactly one pseudo-measure  $\lambda_F^g : \mathcal{B}(\mathbb{R}) \rightarrow \mathbb{R}$  such that*

$$\lambda_F^g([a, b]) = F_g(b) \ominus F_g(a)$$

for each  $a, b \in \mathbb{R}$ ,  $a < b$ .

*Proof.*

1. Existence: Define  $\lambda_F^g$  by *Definition 3.3*. Evidently, for each  $a, b \in \mathbb{R}$ ,  $a < b$  we obtain

$$\begin{aligned} \lambda_F^g([a, b]) &= g^{-1}(\lambda_F([a, b])) = g^{-1}(F(b) - F(a)) = \\ &= g^{-1}(g(F_g(b)) - g(F_g(a))) = \\ &= F_g(b) \ominus F_g(a) \end{aligned}$$

2. Uniqueness: Let  $\mu, \nu$  be the pseudo-measures defined on  $\mathcal{B}(\mathbb{R})$ , such that  $\mu = \nu$  on  $J = \{[a, b] ; a < b, a, b \in \mathbb{R}\}$ .

Since  $\mu, \nu$  are the pseudo-measures and  $\mu = \nu$  on  $J$ , then  $g \circ \mu, g \circ \nu$  are the measures and  $g \circ \mu = g \circ \nu$  on  $J$ . If  $g \circ \mu(A) = g \circ \nu(A)$  for each  $A \in J$ , then  $g \circ \mu(A) = g \circ \nu(A)$  for each  $A \in \mathcal{B}(\mathbb{R})$ .

Hence for each  $A \in \mathcal{B}(\mathbb{R})$  we obtain

$$\mu(A) = g^{-1}(g \circ \mu(A)) = g^{-1}(g \circ \nu(A)) = \nu(A)$$

Therefore, if  $\mu, \nu$  are the pseudo-measures defined on  $\mathcal{B}(\mathbb{R})$ , such that  $\mu = \nu$  on  $J$ , then  $\mu = \nu$  on  $\mathcal{B}(\mathbb{R})$ .

**Theorem 3.5.** *Let  $(\Omega, \mathcal{S}, P)$  be a pseudo-probability space. Then for each  $A, B \in \mathcal{S}$ ,  $B \subset A$  we have*

$$P(A \setminus B) = P(A) \ominus P(B)$$

*Proof.* Evidently, we obtain

$$\begin{aligned}
 P(A \setminus B) &= g^{-1}(p(A \setminus B)) = \\
 &= g^{-1}(p(A) - p(B)) = \\
 &= g^{-1}(g(P(A)) - g(P(B))) = \\
 &= P(A) \ominus P(B)
 \end{aligned}$$

**Theorem 3.6.** *Let  $\xi$  be a random variable and  $F_g$  be its pseudo-distribution function. Then for each  $A \in \mathcal{B}(\mathbb{R})$  we have*

$$P(\xi^{-1}(A)) = \lambda_F^g(A)$$

*Proof.* By *Theorem 3.5* we obtain

$$\begin{aligned}
 P(\xi^{-1}([a, b])) &= P(\xi^{-1}((-\infty, b) \setminus (-\infty, a))) = \\
 &= P(\xi^{-1}((-\infty, b)) \setminus \xi^{-1}((-\infty, a))) = \\
 &= P(\xi^{-1}((-\infty, b))) \ominus P(\xi^{-1}((-\infty, a))) = \\
 &= F_g(b) \ominus F_g(a) = \\
 &= \lambda_F^g([a, b])
 \end{aligned}$$

hence *Theorem 3.4* is applicable.

**Theorem 3.7.** *Let  $\xi$  be an integrable random variable,  $F_g$  be its pseudo-distribution function and  $F = g \circ F_g$  be its distribution function. Let  $f : \mathbb{R} \rightarrow \mathbb{R}$  be a Borel measurable function. Then the pseudo-Lebesgues-Stieltjes integral of the function  $f$  corresponding to  $F_g$  can be expressed by the formula*

$$\int^{\oplus} f dF_g = g^{-1} \left( \int g \circ f dF \right)$$

*Proof.*

Function  $f$  is a random variable in the pseudo-probability space  $(\mathbb{R}, \mathcal{B}(\mathbb{R}), \lambda_F^g)$ .

1. Let  $f$  be a Borel measurable function defined by  $f = \sum_{i=1}^n \alpha_i \cdot \chi_{A_i}$ , where  $A_i$  ( $i = 1, \dots, n$ ) are disjoint sets from  $\mathcal{S}$ . Then, by *Theorem 3.6* we obtain

$$\begin{aligned}
\int^{\oplus} f dF_g &= \bigoplus_{i=1}^n (\alpha_i \otimes \lambda_F^g(A_i)) = \\
&= g^{-1} \left( \sum_{i=1}^n g(\alpha_i \otimes \lambda_F^g(A_i)) \right) = \\
&= g^{-1} \left( \sum_{i=1}^n g(g^{-1}(g(\alpha_i) \cdot g(\lambda_F^g(A_i)))) \right) = \\
&= g^{-1} \left( \sum_{i=1}^n (g(\alpha_i) \cdot g(\lambda_F^g(A_i))) \right) = \\
&= g^{-1} \left( \sum_{i=1}^n (g(\alpha_i) \cdot g(P(\xi^{-1}(A_i)))) \right) = \\
&= g^{-1} \left( \sum_{i=1}^n (g(\alpha_i) \cdot p(\xi^{-1}(A_i))) \right) = \\
&= g^{-1} \left( \sum_{i=1}^n (g(\alpha_i) \cdot \lambda_F(A_i)) \right) = \\
&= g^{-1} \left( \int g \circ f dF \right)
\end{aligned}$$

2. Let  $f$  be a nonnegative Borel measurable function and  $(f_n)_{n=1}^{\infty}$  be a sequence of the simple Borel measurable functions, where  $f_n \geq 0$ ,  $f_n \nearrow f$ .

Since  $f_n$  are the simple Borel measurable functions, then by the case 1 we have

$$(1) \quad \int^{\oplus} f_n dF_g = g^{-1} \left( \int g \circ f_n dF \right)$$

Hence, by limits theorems for pseudo-Lebesgue integral and by (1) can be obtained

$$\begin{aligned}
\int^{\oplus} f dF_g &= \lim_{n \rightarrow \infty} \int^{\oplus} f_n dF_g = \\
&= \lim_{n \rightarrow \infty} g^{-1} \left( \int g \circ f_n dF \right) = \\
&= g^{-1} \left( \lim_{n \rightarrow \infty} \int g \circ f_n dF \right) = \\
&= g^{-1} \left( \int g \circ f dF \right)
\end{aligned}$$

3. Let  $f$  be a Borel measurable function,  $f = f^+ - f^-$ . Then, by property of

pseudo-Lebesgue integral and the case 2 we obtain

$$\begin{aligned}
\int^{\oplus} f \, dF_g &= \int^{\oplus} f^+ \, dF_g \ominus \int^{\oplus} f^- \, dF_g = \\
&= g^{-1} \left( g \left( \int^{\oplus} f^+ \, dF_g \right) - g \left( \int^{\oplus} f^- \, dF_g \right) \right) = \\
&= g^{-1} \left( g \left( g^{-1} \left( \int g \circ f^+ \, dF \right) \right) - g \left( g^{-1} \left( \int g \circ f^- \, dF \right) \right) \right) = \\
&= g^{-1} \left( \int g \circ f^+ \, dF - \int g \circ f^- \, dF \right) = \\
&= g^{-1} \left( \int g \circ f \, dF \right)
\end{aligned}$$

**Proposition 3.1.** Let  $\bigoplus_{i=1}^{\infty} P_i < \infty$ ,  $P_i \geq 0$ ,  $P_i \in \mathbb{R}$  and  $(x_i)_{i=1}^{\infty}$  be a sequence of real numbers such that if  $i \neq j$  then  $x_i \neq x_j$ . Denote

$$F_g(x) = \bigoplus_{x_i < x} P_i$$

Then,  $F_g$  is non-decreasing and left-continuous function.

*Proof.* Since  $\bigoplus_{i=1}^{\infty} P_i = g^{-1} \left( \sum_{i=1}^{\infty} g \circ P_i \right) < \infty$  and  $g$  is an increasing bijection, then  $\sum_{i=1}^{\infty} g \circ P_i < \infty$ . Hence by Proposition 4.11.2 in [12] can be obtained that the function  $F(x) = \sum_{x_i < x} g \circ P_i$  is non-decreasing and left-continuous.

Therefore

$$F_g(x) = \bigoplus_{x_i < x} P_i = g^{-1} \left( \sum_{x_i < x} g \circ P_i \right)$$

is a non-decreasing and left-continuous function.

**Theorem 3.8.** If the function  $F_g$  is defined like in Proposition 3.1, then a measurable function  $f$  is integrable by pseudo-Lebesgue-Stieltjes measure  $\lambda_F^g$  if and only if  $\bigoplus_{i=1}^{\infty} (|f(x_i)|^{\oplus} \odot P_i) < \infty$ . It holds

$$\int^{\oplus} f(x) \, dF_g(x) = \bigoplus_{i=1}^{\infty} (f(x_i) \odot P_i).$$

*Proof.* "⇒" Let  $f$  be integrable by the pseudo-Lebesgue-Stieltjes measure  $\lambda_F^g$ . Then, there exists the pseudo-Lebesgue-Stieltjes integral  $\int^{\oplus} f \, dF_g = g^{-1} \left( \int g \circ f \, dF \right)$ . Hence,  $g \circ f$  is integrable by the Lebesgue-Stieltjes measure  $\lambda_F$ .

Moreover, since  $F_g$  is defined like in *Proposition 3.1* and  $g$  is an increasing bijection, then the function  $F$  defined by

$$F(x) = \sum_{x_i < x} g \circ P_i$$

and the measurable function  $g \circ f$  satisfy the assumptions of *Theorem 4.11.3* in [12]. Hence

$$\sum_{i=1}^{\infty} (|(g \circ f)(x_i)| \cdot (g \circ P_i)) < \infty$$

and

$$\int g \circ f \, dF = \sum_{i=1}^{\infty} ((g \circ f)(x_i) \cdot (g \circ P_i)).$$

Therefore

$$\begin{aligned} \bigoplus_{i=1}^{\infty} (|f(x_i)|^{\oplus} \odot P_i) &= g^{-1} \left( \sum_{i=1}^{\infty} g(|f(x_i)|^{\oplus} \odot P_i) \right) = \\ &= g^{-1} \left( \sum_{i=1}^{\infty} g \circ g^{-1} (g(|f(x_i)|^{\oplus}) \cdot g(P_i)) \right) = \\ &= g^{-1} \left( \sum_{i=1}^{\infty} (g(|f(x_i)|^{\oplus}) \cdot g(P_i)) \right) = \\ &= g^{-1} \left( \sum_{i=1}^{\infty} (g \circ g^{-1} (|(g \circ f)(x_i)|) \cdot g(P_i)) \right) = \\ &= g^{-1} \left( \sum_{i=1}^{\infty} (|(g \circ f)(x_i)| \cdot (g \circ P_i)) \right) < g^{-1}(\infty) = \infty \end{aligned}$$

and

$$\begin{aligned} \int^{\oplus} f(x) \, dF_g(x) &= g^{-1} \left( \int (g \circ f)(x) \, dF(x) \right) = \\ &= g^{-1} \left( \sum_{i=1}^{\infty} ((g \circ f)(x_i) \cdot (g \circ P_i)) \right) = \\ &= \bigoplus_{i=1}^{\infty} (f(x_i) \odot P_i). \end{aligned}$$

” $\Leftarrow$ ” It is analogy to the proof ” $\Rightarrow$ ”.

**Remark 3.9.** The pseudo-Lebesgue-Stieltjes integral  $\int^{\oplus} f(x) \, dF_g(x)$  defined in *Theorem 3.8* can be expressed in the form

$$\int^{\oplus} f(x) \, dF_g(x) = g^{-1} \left( \sum_{i=1}^{\infty} ((g \circ f)(x_i) \cdot (g \circ P_i)) \right)$$

**Proposition 3.2.** *Let  $f : \mathbb{R} \rightarrow \mathbb{R}$  be a nonnegative function such that there exists the pseudo-Lebesgue integral  $\int^{\oplus} f \, dT < \infty$ . Then the function  $F_g$  defined by*

$$F_g(x) = \int_{(-\infty, x]}^{\oplus} f \, dT$$

*is non-decreasing and left-continuous.*

*Proof.* Since there exists the pseudo-Lebesgue integral  $\int^{\oplus} f \, dT < \infty$  and  $g$  is an increasing bijection, then there exists the Lebesgue integral  $\int g \circ f \, dg \circ T < \infty$ . Hence by *Proposition 4.11.4* in [12] can be obtained that the function  $F(x) = \int_{(-\infty, x]} g \circ f \, dg \circ T$  is non-decreasing and left-continuous.

Therefore

$$F_g(x) = \int_{(-\infty, x]}^{\oplus} f \, dT = g^{-1} \left( \int_{(-\infty, x]} g \circ f \, dg \circ T \right)$$

is non-decreasing and left-continuous function.

**Theorem 3.10.** *Let  $F_g$  be a function defined in Proposition 3.2. Then a Borel measurable function  $h : \mathbb{R} \rightarrow \mathbb{R}$  is integrable by  $\lambda_F^g$  if and only if there exists the pseudo-Lebesgue integral  $\int_R^{\oplus} h(x) \odot f(x) \, dx < \infty$ . It holds*

$$\int_R^{\oplus} h(x) \, dF_g(x) = \int_R^{\oplus} h(x) \odot f(x) \, dx$$

*Proof.* "⇒" Let  $h$  be a Borel measurable function such that it is integrable by the pseudo-Lebesgue-Stieltjes measure  $\lambda_F^g$ . Then, there exists the pseudo-Lebesgue-Stieltjes integral  $\int_R^{\oplus} h(x) \, dF_g(x) = g^{-1} \left( \int_R (g \circ h)(x) \, dF(x) \right)$ . Hence,  $g \circ h$  is integrable by the Lebesgue-Stieltjes measure  $\lambda_F$ .

Moreover, since  $F_g$  is defined as in *Proposition 3.2* and  $g$  is an increasing bijection, then the function  $F$ , defined by

$$F(x) = \int_{(-\infty, x]} g \circ f \, dg \circ T$$

and the Borel measurable function  $g \circ h$  satisfy the assumptions of *Theorem 4.11.5* in [12]. Hence there exists the Lebesgue integral

$$\int_R (g \circ h)(x) \cdot (g \circ f)(x) \, dg \circ x$$



and

$$\int_R (g \circ h)(x) \, dF(x) = \int_R (g \circ h)(x) \cdot (g \circ f)(x) \, dg \circ x.$$

Therefore, there exists the pseudo-Lebesgue integral

$$\begin{aligned} \int_R^{\oplus} h(x) \odot f(x) \, dx &= g^{-1} \left( \int_R g(h(x) \odot f(x)) \, dg \circ x \right) = \\ &= g^{-1} \left( \int_R g \circ g^{-1}(g(h(x)) \cdot g(f(x))) \, dg \circ x \right) = \\ &= g^{-1} \left( \int_R (g \circ h)(x) \cdot (g \circ f)(x) \, dg \circ x \right) \end{aligned}$$

and

$$\begin{aligned} \int_R^{\oplus} h(x) \, dF_g(x) &= g^{-1} \left( \int_R (g \circ h)(x) \, dF(x) \right) = \\ &= g^{-1} \left( \int_R (g \circ h)(x) \cdot (g \circ f)(x) \, dg \circ x \right) = \\ &= \int_R^{\oplus} h(x) \odot f(x) \, dx. \end{aligned}$$

” $\Leftarrow$ ” It is analogy to the proof ” $\Rightarrow$ ”.

#### 4. Relation between the pseudo-Lebesgue and pseudo-Lebesgue-Stieltjes integral

In the general probability theory there exists a relation between the Lebesgue integral and the Lebesgue-Stieltjes integral. If  $\xi$  is a random variable with a distribution function  $F$  and  $f : \mathbb{R} \rightarrow \mathbb{R}$  is a Borel measurable function, then the function  $f \circ \xi$  is a random variable and

$$\int f \circ \xi \, dp = \int f \, dF$$

if one of these integrals exists.

In this section we show that in the pseudo-probability there exists a relation between the pseudo-Lebesgue integral and the pseudo-Lebesgue-Stieltjes integral, too.

**Theorem 4.1.** *Let  $(\Omega, \mathcal{S}, P)$  be a pseudo-probability space and  $p$  be the induced probability. Let  $\xi$  be a random variable with the pseudo-distribution function  $F_g$ ,  $F = g \circ F_g$  be its distribution function and  $f : \mathbb{R} \rightarrow \mathbb{R}$  be a Borel measurable function. Then the function  $f \circ \xi$  is a random variable and*

$$\int^{\oplus} f \circ \xi \, dP = \int^{\oplus} f \, dF_g$$

*if one of these integrals exists.*

*Proof.* For each  $A \in \mathcal{B}(\mathbb{R})$  we have that

$$(f \circ \xi)^{-1}(A) = \xi^{-1}(f^{-1}(A)) \in \mathcal{S}$$

hence  $f \circ \xi$  is a random variable.

Since  $g : \mathbb{R} \rightarrow \mathbb{R}$  is an increasing bijection with  $g(0) = 0$ ,  $g(1) = 1$  and  $f : \mathbb{R} \rightarrow \mathbb{R}$  is a Borel measurable function, then  $g \circ f : \mathbb{R} \rightarrow \mathbb{R}$  is a Borel measurable function. Hence

$$(2) \quad \int (g \circ f) \circ \xi \, dp = \int g \circ f \, dF$$

By property (2) and *Theorem 3.7* we obtain

$$\begin{aligned} \int^{\oplus} f \circ \xi \, dP &= g^{-1} \left( \int g \circ (f \circ \xi) \, dp \right) = g^{-1} \left( \int (g \circ f) \circ \xi \, dp \right) = \\ &= g^{-1} \left( \int g \circ f \, dF \right) = \int^{\oplus} f \, dF_g \end{aligned}$$

## 5. Applications

It can be seen that *Theorem 3.8*, *Theorem 3.10* and *Theorem 4.1* can be used to calculate the pseudo-dispersion  $\sigma^{2\oplus}$  in the same sense like their analogues in the general probability theory.

Now we recall the notions like pseudo-mean value (expectation)  $E^{\oplus}$ , pseudo-dispersion  $\sigma^{2\oplus}$  and  $L_2^{\oplus}$  space, introduced in [4].

Let  $(\Omega, \mathcal{S}, P)$  be a pseudo-probability space. If a random variable  $\xi : \Omega \rightarrow \mathbb{R}$  is integrable, then the number

$$E^{\oplus}(\xi) = \int_{\Omega}^{\oplus} \xi \, dP < \infty$$

is called the pseudo-mean value (expectation) of the random variable  $\xi$ .

Let  $\xi : \Omega \rightarrow \mathbb{R}$  be an integrable random variable in  $(\Omega, \mathcal{S}, P)$ . If the random variable  $(\xi \ominus E^{\oplus}(\xi))^{2\oplus}$  is integrable, then we say that  $\xi$  has a pseudo-dispersion  $\sigma^{2\oplus}$  defined by the formula

$$\sigma^{2\oplus}(\xi) = E^{\oplus} \left( (\xi \ominus E^{\oplus}(\xi))^{2\oplus} \right)$$

Let  $(\Omega, \mathcal{S}, P)$  be a  $g$ -measure space (i.e.  $P$  is defined by the formula  $P = g^{-1} \circ p$ , where  $p$  is the measure). We denote  $L_2^{\oplus} = L_2^{\oplus}(\Omega, \mathcal{S}, P)$  the class of all measurable real functions  $f$  for which  $f \odot f$  is integrable. We write

$$L_2^{\oplus} = \left\{ f : \Omega \rightarrow \mathbb{R}; \int^{\oplus} f \odot f \, dP < \infty \right\}$$

The following theorems are the key to the calculation of the pseudo dispersion  $\sigma^{2\oplus}$  of random variables.

**Proposition 5.1.** For each  $\xi \in L_2^\oplus$  hold

$$\sigma^{2\oplus}(\xi) = \int_R^\oplus (x \ominus E^\oplus(\xi))^{2\oplus} dF_g(x),$$

*Proof.* If we denote  $f(x) = (x \ominus E^\oplus(\xi))^{2\oplus}$  in Theorem 4.1, then, by the definition of pseudo-dispersion and pseudo-mean value we obtain

$$\sigma^{2\oplus}(\xi) = \int_R^\oplus (x \ominus E^\oplus(\xi))^{2\oplus} dF_g(x).$$

**Proposition 5.2.** If  $\xi$  is a discrete random variable from the  $L_2^\oplus$  space with the values  $x_1, x_2, \dots$  and their pseudo-probabilities  $P_1, P_2, \dots$ , then

$$\sigma^{2\oplus}(\xi) = \bigoplus_{i=1}^{\infty} \left( (x_i \ominus E^\oplus(\xi))^{2\oplus} \odot P_i \right).$$

*Proof.* We obtain this result from Proposition 5.1 and Theorem 3.8.

**Proposition 5.3.** If  $\xi$  is a continuous random variable with a density  $f$  (i.e.  $F_g(x) = \int_{(-\infty, x]}^\oplus f dT$ ), then

$$\sigma^{2\oplus}(\xi) = \int_R^\oplus \left( (x \ominus E^\oplus(\xi))^{2\oplus} \odot f(x) \right) dx.$$

*Proof.* We obtain this result from Proposition 5.1 and Theorem 3.10.

## Acknowledgement

This paper was supported by Grant VEGA 1/2002/05.

## References

- [1] Itô, K., Introduction to probability theory. New York: Cambridge University Press 1984.
- [2] Klement, E. P., Mesiar, R., Pap, E., Integration with respect to decomposable measures, based on a conditionally distributive semiring on the unit interval. Internat. J. Uncertain. Fuzziness Knowledge-Based Systems 8 (2000), 701-717.
- [3] Kolesárová, A., Integration of real function with respect to a  $\oplus$ -measure. Math. Slovaca 46 No. 1 (1996), 41-52.
- [4] Lendelová, K.,  $L_2$  space and  $g$ -calculus with applications. Tatra Mountains, in press.
- [5] Marinová, I., Integration with respect to a  $\oplus$ -measure. Math. Slovaca 36 No. 1 (1986), 15-24.

- [6] Nedović, L. M., Grbić, T., The pseudo probability. *Journal of Electrical Engineering* 53 (2002), 27-31.
- [7] Pap, E., An integral generated by decomposable measure. *Univ. Novom Sadu Zb. Rad. Prirod.-Mat. Fak. Ser. Mat.* Vol. 20 No. 1 (1990): 135-144.
- [8] Pap, E.,  $g$ -calculus. *Univ. Novom Sadu Zb. Rad. Prirod.-Mat. Fak. Ser. Mat.* Vol. 23 No. 1 (1993). 145-150.
- [9] Pap, E., *Null-Additive Set Functions*. Dordrecht: Kluwer Academic Publishers, Bratislava: Ister Science 1995.
- [10] Pollard, D., *A User's Guide to Measure Theoretic Probability*. New York: Cambridge University Press 2002.
- [11] Riečan, B., Neubrunn, T., *Integral, Measure, and Ordering*. Dordrecht: Kluwer Academic Publishers, Bratislava: Ister Science 1997.
- [12] Riečan, B., Neubrunn, T., *Teória miery [Measure theory]*. Bratislava: Veda 1992.
- [13] Sugeno, M., Murofushi, T., Pseudo-additive measures and integrals. *J. Math. Anal. Appl.* 122 (1987), 197-222.

*Received by the editors October 3, 2006*